Name of the Trade : Information & Communication Technology System Maintenance 4™ sem - NSQF - Module 1 : Components of Computer Network

# Question Opt A Opt B Opt C Opt D Question Opt A OptB Opt C Opt D Ans Level

1|Which of the following network topology is called "Fully Star topology Bus topology Ring topology Mesh topology  [[@e=TTali@d & & fFd sicadh erdiars 3 "fully connected " TR aardis I areto T ettt AY TelTol D 1
connected" network? AcTF T ST E?

2|Which topology is connected along single piece of n/w Bus topology Ring topology Star topology Mesh topology  |&hieT &1 IATellol sicash shael & 1GeTel 98 & I3 alcll &7 9 SaYeltol ReT erarelrst TR caYeliol AY tellol A 1
cable?

3|Which topology uses multipoint connection? Ring topology Bus topology Mesh topology Star topology  |IsT-8Y STOTeiTol HeCIITSC haidrlel T STANIT FI &7 a1 Srarelis ERESEin] AY SaYeltol 9 el B 1

4|Which topology is expanded version of star topology? Tree topology Ring topology Bus topology Hybrid topology  |TeR SIaYelTol ST Shlet AT TdTeloll [AEdTRd TEIT 872 [AEEICIE R erarelrst EREsESin] REEEEEIEIS A 1

5|What is the full form of LAN? Light Area Network | Local Area Network Light Average Left Area Network |LAN &T CLU‘IW FTZ? Light Area Network | Local Area Network Light Average Left Area Network B 1

Network Network

6|Computer n/w which spans a large physical area LAN WAN MAN PAN FYTI Acdsh ol Teh I3 Hifcleh &1F 1 TSI el & o LAN WAN MAN PAN B 2
connecting several sites of an organization across cities, QET, 21T 3R FAGIEAT & Teh HITST o s TSl Hl AT
countries and continents is known as? g7

7|Which transmission technique is used by mobile network? Microwave Radio Infrared Ultra high frequency [ATSTSe sicash GaRT [ohd CIATHRIS &iFeteh T 3UATIT ohal HIgHIaq RER SRS 31T 33 3mgRy B 2

ST &2

8|Which array of network technologies and system is used Wi-Fi hotspot Ethernet Broad Band Internet TATART 817 SIcaeh & Scdeh doheiiehl 3R TTCH HT HieT AT SIS BleTdic ST EIEEH geleie B 2
in local area network? Foft 39T fRam ST 87

9|What is the full form of GSM? Global System for | Ground system for | Global server for Genius server for |GSM EI?TELUSIFETW%? Global System for Ground system for Global server for Genius server for A 1

mobile mobile mobile mobile mobile communication|mobile communication|mobile communication|mobile communication
communication communication communication communication
10|What is the full form of NIC? Network Network Network Interface  |Name Interface Card|NIC &T U1 & &1 £ Network Interchange |Network International | Network Interface Name Interface Card c 1
Interchange Card | International Center Card Card Center Card
11|What is the full form of WIFI? Wired Field Wireless Fidelity Wide Field Wired Fidelity WIFI a:rtpﬁmw%? Wired Field Wireless Fidelity Wide Field Wired Fidelity B 1




Name of the Trade : Information & Communication Technology System Maintenance 4" sem - NSQF - Module 2 : Crimping, Puncting, Cabling & Configuration

# Question Opt A Opt B OptC Opt D Question Opt A Opt B OptC Opt D Ans Level
1|What is the full form of UTP? Undirectional Unrealistic Track Unshielded Twisted | Unshielded Transfer |UTP &I 901 &9 2T §? Undirectional Unrealistic Track Unshielded Unshielded C 1
Transfer protocol Protocol Pair Pair Transfer protocol Protocol Twisted Pair Transfer Pair

2|Which type of twisted pair cable is used for protecting from Unshielded Twisted | Shielded Twisted pair| Shift Twisted Pair | Serial Twisted Pair |Sclerelialeh 21X & aTel & [oTT [ohd TehIR 2T STAECS helel &l Unshielded Shielded Twisted | Shift Twisted Pair |Serial Twisted Pair B 1
electronic noise? Pair 3T fRAT ST 82 Twisted Pair pair

3[What is the full form of OFC? Option For Cable | Oriented Fiber Cable Oscillated Fiber Optical Fiber Cable |OFC awqpﬁmw%? Option For Cable | Oriented Fiber Oscillated Fiber Optical Fiber D 1

Cable Cable Cable Cable
4|What is the transfer rate of cable of UTP cable class 2? 100 Mbps 50 Mbps 30 Mbps Upto 10 Mbps  [UTP %hacT 39T 2 o shalel ol I IC T 72 100 Mbps 50 Mbps 30 Mbps Upto 10 Mbps D 1
5]Which type of cable uses RJ 45 connector? Optical fiber cable Telephone cable Co-axial cable Unshielded Twisted |frT YR T el 3TRT 45 ShaldFe ol ST AT §72 JifCeehel BIER ColTBIeT el | ol - TSl el | 3T-TeMl3E ¢laees D 1
pair cable el 3R el

6|Which of the following is used as a high speed network Shielded twisted pair | Unshielded Twisted Co-axial cable Fiber optic cable |e=ATo@d & & fhaerT 39N 3¢9 Ifd Acdh AT H T H | Moz cawes | aefess cfawes | # - vieaad dhadl [hEsR Aiites had D 1
media? cable pair cable TR ST 82 U3R el U3R el

7|0n which port RJ 45 connector is connected? Ethernet USB port HDMI port Centronics port  |RJ -45 @eiae [ohg 91 I 531§ 35?2 ST Fuad gic TISTHITS 9 Heileeg Oc A 1

8[What is the full form of RJ-45? Ready Jam-45 Real Jack-45" Registered-Jack-45 Random Jack-45 [RJ -45 &1 tUﬁ G FAT 872 Ready Jam-45 Real Jack-45" Registered-Jack- [ Random Jack-45 C 1

45

9|For connecting analogy telephone line which type of RJ-50 RJ-45 RJ-20 RJ-11 TATATIT CelTthle] TS T STNSeT o [l [hd YRR o dhelFe< hl RJ-50 RJ-45 RJ-20 RJ-11 D 1

connector is used? 39T T AT 87
10{How many standard of RJ-45 wiring? 1 2 3 4 RJ -45 arIRA3T & fhda AT gld &7 1 2 3 4 B 1




11|BNC connector is used in which type of cable? Co-axial cable Telephone cable Optical-fiber cable UTP cable BNC &alerex [hd TR & helel & 3TN fohdT ST 872 FATENY dX COlTRIeT herel mﬁw UTP &hadl
12|Where BNC connectors are used? Television Laptop Mobile Tablet BNC SaleFex gl 39197 [T ST 82 [CIEEC e ASS edeic
13|What is the standard frequency range for CAT 5 cable? 50 MHz 75 MHz 100 MHz 125 MHz CAT 5 &l & ToIT Hleleh G IoT T 62 50 MHz 75 MHz 100 MHz 125 MHz
14|What type of cable is category 5 cable(cat 5)? Single wire Twisted Pair Shielded type Two pair AT 5 el (cat 5) T TR T el 872 Tehel AR THAECE U3 fiess TR ESIE
15|What is the full form of category %e (cat 5e)? Category 5 ethernet |Category 5 enhanced | Category 5 empaired Category 5 echo [category %e (cat 5e) &l CLU‘I T FIATE? Category 5 Category 5 Category 5 Category 5 echo
ethernet enhanced empaired
16{Which type of network supports by category 5 cable? 100 BASE-TX 90 BASE-TX 80 BASE-TX 70 BASE-TX category 5 hadl [hd YR & aicdeh ol GHIT HIT 872 100 BASE-TX 90 BASE-TX 80 BASE-TX 70 BASE-TX
17|Usually CAT 5 Cable has how many Pair? 1 Pair 2 Pair 3 Pair 4 Pair 3TTHAR X he 5 had & fohdel TR 81 87 1 Pair 2 Pair 3 Pair 4 Pair
18|What is the color code of first Pin in T-568B standard? White/orange White Orange White/green T-568B HIeTeh 7 Tgol [T ol IaT IS FAT &2 The, /ARG e, AREIT gIse / g
19|What is the color code of first Pin in T-568A standard? White White/green Green White/orange T-568A HITeh H Tgol [T ol I3T IS FAT &2 The, <gIse | &0 & e / ARG
20|Which one is the type of CAT 5 cable? Coaxial cable Thicknet cable Thinnet cable Straig?;—é?erough CAT 5 Facl I YR il TT &2 FITFET heol AfFoic cherel TeTeic el BIBETE]
21|Which cable is used for connecting hub to hub? Coaxial Cable Roll-over cable Cross-over cable Straight-through ~ |&9 & &9 & SIS & To1T [ Shalol T 3YANIT [T ST 82 FITFALIC hael et 3TaX herel I 31aT shadl e heer

cable




22|Which of the following represented the fastest data Gbps Mbps Kbps Bps AT Ed 7 T fohdel T ool 3T SIATALIE ITTdT ahl Gbps Mbps Kbps Bps
transmission speed? EIGIGIEERET VS

23|How computer process data into information by working Multimedia Word Numbers Character FY TTAY T T HTH H{eh STTTHRT Dl hd T T 87 FAeCHISY reg BT IRk
exclusively with?

24|What is the name of device which receive information in Receiver Sender Transmitter Input FY AAcash H FdeT UTed it dlel [3a18H T oATH FAT 82 RER RE AT YT
computer network?

25|What is the name of the device which sends information on Receiver Transmitter Sender Medium FY Acah I FIoTl Holel ATl 1SATSH I ATH FAT 52 R AT EE HEIH
computer network?

26|What is another name of set of rules? Message Input data Protocol Output Data TITHAT & AT HT GERT ATH FAT 82 ;AT gAqT 3T Iictentel 3m3ege ser

27|Which information is communicated in data communication? Sender Receiver Message Protocol 3¢T HAR A fohdl 11 T HAR @11 872 BER reicHy ERE greTetel

28|Which of the following isn't a type of transmission mode? Speed Simplex Half-duplex Full-duplex TFATHR H § il Teh SIATAIT 7S T IPR AT 62 I RS &h grolad AlS Gl gholard

29[In which transmission mode data is transmitted in only in one Simplex mode Full-duplex mode Half-duplex mode | Analog transmission |T& STATARIA HIS & hadl U G207 A 3¢l TR [RAT ST 82 | [AFdoed A8 Fol-geadrd A3 | g FTolard A3 | TATallal ZrATARIA
direction? mode Az

30|Which one is the example of full duplex transmission mode? Telephone Television Modem Radio Broadcasting e Soelerd CIHTARIA HIS & 3GT6<0T hisl AT 572 Cellthlel [CIEEC ASA 73T gERoT

31|How many types of transmission mode are there? 1 2 3 4 AU A fhdel YR 1 aldT &2 1 2 3 4

32[In which transmission mode data is transmitted in both Simplex transmission Half-duplex Full-duplex Analog transmission |fra ZIATARTE #1s & el [GRM37 A 3T FHIR 81l & olehel FaFelFd &% grolerd AlS Pel-grolFd TATCTIT SIATALNT
direction but only one direction at a time? mode transmission mode | transmission mode mode Teh THT H haol Teh 6T H ? crafAs Al crafAYs Al Als




33|What is the full form of OSI model? Overlap system Open system Ocean system Open system oSl W*ﬁt’gﬁrmw%’? Overlap system Open system Ocean system Open system
interchange model interconnection interconnection internet model interchange model| interconnection interconnection internet model
model model model model
34[How many layers in OSI model? 4 5 6 7 OSI ATsel H fohclell R gl g ? 4 5 6 7
35[In OSI model which layer is responsible for transmission data Network layer Data link layer Transport layer Physical layer ~ [OSI ATEel # CIATARIA 3T &< o [oIT il TT IR TSTFHGR &l #cde ol 31eT foldh alax TAIIE o] TR o]
rate? g2
36|What is the name of fourth layer in OSI model? Data link layer Network layer Transport layer Application layer [OSI ATsel & Y SR oI ATH FT 2 31eT foldh olax Aedd R T R 37TCCarhereT R
37|Which layer support physical medium? Network layer Transport layer Physical layer Data link layer  [ohldf & oRR %A AZad & q@dA iy 82 ATas o} T R TR o 37eT foleh o
38[In OSI model which layer is responsible for routing? Session layer Data link layer Presentation layer Network layer  |OSI #TSel & ahia AT T FedT & [T [IFAGR 872 TELT o] 3TeT foieh ol aX THCLT o] Acah o]
39[In OSI model which layer organise data bits into data frames? Network layer Data link layer Physical layer Transport layer  |OSI ATSel 3 lsT T IR ST [9cH i 3T el H AT FIT Fcaes o} 3TeT foieh ol T oRR T R
82
40[Switches & hubs works on which layer of OSI model? Physical layer Network layer Data link layer Session layer OS| Arsd FI v IR R [&ad 3R g9 1A AT 82 ThIAed aa] Acdsh WRd 37eT foldh olax JqAA R
41|Which layer in OSI model assigns internet protocol(IP) Data link layer Session layer Presentation layer Network layer [0S #ATSd & &ieT AT I ScoIc NeIhId (IP) TId TeTd T £2 |  3Tel foieh o} T o JHCLT o] #Tdsh o}
addresses?
42|Which layer in OSI model use MAC for communication? Physical layer Data link layer Session layer Network layer  |OSI ATl & i T IR TAR & [T MAC HT 3TN F &2 [EEEEEDH 31eT folsh olx [AA o] Aca® ok}




Name of the Trade : Information & Communication Technology System Maintenance 4™ Sem - NSQF - Module 3 : Data communication, IP addressing TCP/IP, Network Protocols

Question Opt A Opt B OptC Opt D Question Opt A Opt B OptC Opt D Ans Level
1{What is the full form of modem? External modem Molding and Modulation and De- Internal modem (MODEM a;rtpﬁmw%? External modem Molding and Modulation and Internal modem C 1
Demolding modulation Demolding De-modulation
2|Which process converts analog signal to digital signal? Modulation De-modulation Quanting Sampling HIeT AT UTHAT TATATIT [R9aTel o I3TSTeel (9Tl J URATad BIEPGHE] S-AIgole FH3MET FFqTorar A 1
FLATE?
3[Hub works on which layer of OSI model? Physical layer Data link layer Network layer Transport layer  |g& OS| ATSel & Thd oI IX I T 872 Hifehel o 37eT folh ol X Aedd Rd T R A 1
4]which of the following hub does not require power source? Active hub Passive hub Intelligent hub Moderate hub  |1o1e=T & & [0 &9 &1 Qad A1 T 3Ta2THdT TaT 2l 82 tiFeq & gfeag g9 Sedleoloic &6 HAsic &9 B 1
5|What is the full form of RIP? Routing Information | Routing interchange | Routing interface  |Routing intermediate |RIP a?rtgﬁww%? Routing Routing Routing interface Routing A 1
Protocols part protocols protocols Information interchange part protocols itermediate
Protocols protocols
6|What is the use of modem? To increase the Connecting to To get printin hard | To scan document [HTSH T 39JTeT FT 8?2 IR P GaTaT A | FeXeic & F3al EE P A M | GEdTaor Tohel el B 1
efficiency of PC internet copy el & forw 9Tod F & forT & fow
7|Repeater works on which layer of OSI model? Layer 1 Layer 2 Layer 3 Layer 4 diex 0S| Arsd F1 Tohd IRl IR FHIHA AT 872 Layer 1 Layer 2 Layer 3 Layer 4 A 1
8|Which of the following network device amplify the input Keyboard Mouse Printer Repeater ArATaT@a & | lsT AT Acash 39T 3AYe [Faetel 1 EOEIE] AZE X qdex D 1
signal? TFTATHTS FIAT &7
9|Which of the following is a network component? Keyboard Gateway Joy-stick Display unit TFATIAd & & il Teh Acdeh HIFAIC g7 EOEIE] AcT S e feEca gfae B 1
10[Mostly switch works on which layer of OSI model? Layer 1 Layer 2 Layer 3 Layer 4 SAGIR Bad OS| ATSS hl fohdl olR U hIH T &7 Layer 1 Layer 2 Layer 3 Layer 4 B 1
11|Which networking device converts data coming from Gateway Hub Modem Keyboard PleT AT sicaTohdT [3AT5H (T3l sicdd & a1 aTel 3T T Gateway Hub Modem Keyboard A 1
different networks? gRafdd Harg?
12|How many types of network switches are there? 1 2 3 4 Scae [€ad fohdel YR & 81 872 1 2 3 4 B 1




13|What is the name of device which is used to connect a Printer Scanner Router UPS 39 [3aT5H &1 TH &1 § 11 Teh 376191 YR & scadh LAN & AqzH TheT &I Fdred
different type of network LAN? Sssr & forw 3uer fFar ST g2
14|Which of the following is not a networking device? Keyboard Router Firewall Switch AT &/ T FleT Acaiehd Sarsd 8 g7 Fras X HRIG aa
15|What is transceiver called an electric network? Medium access Hard-disk Media access unit | Network interface  |[STERETER & GG d Acadh T FHal AT 57 izad wFaw RERELSd AT vFad FfAc| Acash seihd F5
control card Crarc
16|What is the equipment used to allow home computer to Monitor CPU Internet Modem X & HY A GeTeAc W Fatare el ol AT ol & [T Monitor CPU Internet Modem
connect to the internet? TohY 3YHTOT ST 3UANIT T ST &2
17[In OSI network architecture, the routing is performed by? Data link layer Network layer Session layer Transport layer  |OS| sica 3MTeheaa H, F[eaT [haeh GaRT [T SITdT £7? 31eT folh olX AP o] T o] TAIC R
18|What is the application of access point? Defragmentation Remove virus Transmit and Update OS T CdTSe &l 3 51el 1 §2 STThaHC 2Tl TRIRY & gl | 3T ol IR 3R | OS 393T dam
Receive of data YTCd hiel

19|What is the another name of dynamic routing? Random access Secondary memory Adaptive routing Cloud computing mmmm ATH AT 82 Random access Secondary Adaptive routing | Cloud computing
memory memory memory

20|Which is used to select best path to transfer data? Modulation Routing Paging Defragmentation  [3¢T STAHY &l & [T T 37T0T & GoAal & 11T (et BIEP G wfear afSter STThaHC 2TeT

3TeT foRaT ST §7
21|What is the another name of static routing? Non-adaptive routing | Basic-input output | Power on self test Upgrade T FICI T GART ATH FAT &7 M-IHIHATIENRT | IFFFAYE |41 3T T & 3993
system HT3TYE YOIl

22|What is the full form of IPV4? Internet Process Internet Protective Internet Protocol | Internet Play version |IPV4 T '{U‘l & FITE? Internet Process |Internet Protective | Internet Protocol Internet Play
Versus 4 Version 4 Version 4 4 Versus 4 Version 4 Version 4 version 4

23|What is the full form of IGRP? Interior Gateway Internet Gate Interface Google International IGRP <1 ‘{tﬁ T FT 8?2 Interior Gateway Internet Gate Interface Google | FeIaARMeTel ed

Routing Protocol Routing Protocol refresh protocol Gateway Routing Routing Protocol | Routing Protocol | refresh protocol T Yretehier
protocol
24{How many bits are there in IPV4? 16 bits 32 bits 64 bits 128 bits IPV4 # = [Sca gl &7 16 bits 32 bits 64 bits 128 bits
25|How many bits are there in IPV6? 16 bits 32 bits 64 bits 128 bits IPV6 H fohdel fNca gla &2 16 bits 32 bits 64 bits 128 bits




26|Which of the following IP address class is multicast? Class A Class B Class C Class D AT & O i AT IP TSH Folld HocIhRT &l &2 Class A Class B Class C Class D
27|What is the size of host bit in Class B? 8 16 24 32 FoITH B H g [9C o ToIT TR T 872 8 16 24 32
28|What is the highest network in class A of IP address? 125 126 127 128 IP T3T T FoITd A A 3TddH acdh FT gidl g2 125 126 127 128
29(What is the full form of TCP/IP? Telnet Control Transfer Control Telephone Central Transmission TCP/IP =1 ‘{Uﬁ w FIT 2 Telnet Control Transfer Control Telephone Transmission

Protocol / Internet

Protocol / Interface

Protocol / Internet

Control Protocol /

Protocol / Internet

Protocol /

Central Protocol /

Control Protocol /

protocol Protocol Protocol Internet Protocol protocol Interface Protocol | Internet Protocol | Internet Protocol
30[|How many layer are there in TCP/IP? 1 2 3 4 TCP/IP # Tohctell o2k gicl 87 1 2 3 4
31|How many types of Internet Protocol version exists? 1 2 3 4 TRdel TR & FeeIC TICIhidl doted HISlG Bl 872 1 2 3 4
32|Which of the following layer is not present in the TCP/IP Transport layer Application layer Network layer USB Layer o1 & Q T A oI TCP/IP ATsel A HIS[G T8l &2 T R 37TCCeTh el o’ Fcaeh o USB oRIX
model?
33|Which country TCP/IP was developed? America India China Japan g e s TCP/IP fassiad foram ar? SRR EIeGl AT ST
34|What is the name of layer-4 in TCP/IP model? Internet layer Host-to-Host-layer Network layer Application layer [TCP/IP ATSH & IR -4 & ATH T &7 AT AT ERT ¢ BT o’ Fcaeh o 37TCCeTherT R
35(What is the full form of FTP? First Transport File Transport File Transfer Protocol Find Transfer FTP &1 '{U'RW FT 8?2 First Transport File Transport File Transfer Find Transfer
Protocol Protocol Protocol Protocol Protocol Protocol Protocol
36|What is the name of server which uses FTP protocol for data File server TCP/IP model OSI model Transfer server |31 gRAWR & TolT FTP WIcIehlol ST SUATIT et dTel T T AT HIS TAX Y / 3Ty 30 T 38 Al TEAW T
transfer? FATE? HAisd
37|Which of the following is a standard protocol? JAVA PHP HTTP MS-Office FATITAd & & il AT Ueh HTAF TICIhid g2 JAVA PHP HTTP MS-Office
38|What is the port No. of HTTP? Port-80 Port-81 Port-82 Port-83 HTTP &T 9IC Fe) T 87 Port-80 Port-81 Port-82 Port-83




39|Which protocol is used to send mail messages? FTP HTTP SMTP HTML AT T AT & oIT [l il T 3UTTIT [T ST &7 FTP HTTP SMTP HTML
40|What is the full form of SMTP? Simple Message Simple Mail Simple Mail Transfer | Simple Message |SMTP wqﬂmw%? Simple Message Simple Mail Simple Mail Simple Message
Transfer Protocol Transmission Protocol Transmission Transfer Protocol Transmission Transfer Protocol Transmission
Protocol Protocol Protocol Protocol
41|What is the full form of DHCP? Data Host Dynamic Host Datagram Host Disk Host DHCP Eh‘rq'\U‘quEF&IT%? Data Host Dynamic Host Datagram Host Disk Host
Configuration Configuration Configuration Configuration Configuration Configuration Configuration Configuration
Protocol Protocol Protocol Protocol Protocol Protocol Protocol Protocol
42|How does DHCP works? Form-Factor Defragmentation Dynamic Client-server DHCP &% &1 T &2 A theFe BhaTHCT IEATHD FaSC TR
43|Which protocols is used to receive mails? Client POP3 FTP LDAP Al UTCd ol o ToIU [ohel TTCTehlel bl 3TN TohdT SITcT &2 Client POP3 FTP LDAP
44|What is the name of computer which is connected to the Client computer Protocol Hyperlink Uniform Resource |38 &ge &l oATH &1 § 3l 3cieic ool & 3187 FATSC Y gIcihle BERRCED FfwE Ram
internet cable? Locator
45|Which one is a open protocol used to store and retrieve HTTP HTML LDAP VLAN T A Teihlel § Gl &l HIEId e AR Goded el & HTTP HTML LDAP VLAN

information from a active directory?

T &ieT &1 T et Ao 57




Name of the Trade : Information and Communication Technology System Maintenance 4" sem - NSQF - Module 4 : Sharing, Internet, Projection Troubleshooting, Control, Security

Question Opt A Opt B OptC Opt D Question Opt A Opt B OptC Opt D Ans Level

1|what is Internet? Protocol Network of Networks Application Hardware Sclddc FATE ? gicieplcl Acde T Acash IEEE G HEL DR B 1

2|What TCP/IP? Protocol Hardware Software Display TCP/IP FT 8T g ? EIEL HELRR ATFCdAT oo A 1

3[(What is the full form of ISP? International service India Service Internet Service Information service [ISP =T q;v‘i Y FAT§? International service [India Service Provider| Internet Service Information service C 1
Protocol Provider Provider Provider Protocol Provider Provider

4[Which is the lowest layer of TCP/IP model? Network Access layer Internet layer Host to Host layer Application layer [TCP/ IP ATsel T A& el o2k hisT AT 872 Scas TFAd ok AT AR EIT ¢ BIC o JifCeerehesT a] A 1

5|Which country developed DARPA project? America China Japan California T G2 & DARPA GRS fashfad ol o ? America China Japan California A 1

6(What is the full form of HTML? Hypertext Markup Hypertext Mixed Hypertext Mixed Hypertext markup |HTML 1 l{fﬁ &Y FIT 57 Hypertext Markup Hypertext Mixed Hypertext Mixed Hypertext markup D 1
Lines Language Locator Language Lines Language Locator Language

7|What is the full form of DNS? Data Network Datagram Network Domain News Domain Name DNS EﬁTq;Uﬁan-‘é:IT%? Data Network System| Datagram Network Domain News Domain Name D 1

System System System System System System System

8|Which one is not a internet service Provider? Airtel Vodafone Idea Google il TT Sele TdT T eI 7161 &7 Airtel Vodafone Idea Google D 1

9|How many parts of uniform resources locator(URL)? 1 2 3 4 A T Aok (URL) & et 19T 22 1 2 3 4 D 1

10(Which one is a web Browser? Page maker Google chrome MS-excel Paint 9 ST3oR el AT 87 Page maker Google chrome MS-excel Paint B 1

11|What type of site is facebook? Social networking Internet layer Artificial intelligence Commercial HHYH [hd THR I AST 67 arereT Aeafher geelC o nfehrize SIS A 1

12({When was internet first invented? In 1950 In 1960 In 1970 In 1980 Wﬂmmmﬁmm qr? In 1950 In 1960 In 1970 In 1980 A 1




13[Which one is not a Anti-virus? Kasper sky Wordpress Quick-heal total | Norton 360 standard [TEY-arRE isT AT AeT &7 FTER THS LTl Fas & total ATt 360 T3S
security

14{How many type of network security available? 1 2 3 4 el TR T cae GI&T 3TcTstl a1 82 1 2 3 4

15|Which is used to provide physical and logical security in  |Network collaboration Network sink Network security Network blockage |geX Acaeh & #iTdeh 3R dTieheh GR&T Talel e o forT Aedd Ploaaled Acdd A Scas gIat Acdh sollhol

a computer network?

TorgepT 3TN TR AT 872

16(What is the full form of VPN? Very Poor Network Virtual Private Virtual Public network Virtual Private VPN WE[U‘IWW%? Very Poor Network Virtual Private Virtual Public network Virtual Private
network Naming network Naming
17|Which one is network security tool? Keyboard Mouse Joy-stick Anti-virus software |caes GI&T 3UHIUT Siet AT 572 EIEIE] AT g e TE-arIRd AIFedaR
package et
18|What is denial of software (DoS) in network security? Protocol Threat Hard-disk Motherboard Fcae GI&T A A1Fca (DoS) ¥ afad & g2 gIcihlel < s B AcIaS
19|Which is a tool used for network troubleshooting? Hammer File Wire stripper Clamp-meter  [scaeh THEAT AR & [T R 3UHIOT T 3TN fohaT T e aRR ‘g Folg FHex
ST §?
20|Which command is used to determining the ip address of NETSAT TRACERT NET IPCONFIG TSl TaRIY 3ueRtoT o TS U &l [AEiRd aat & few NETSAT TRACERT NET IPCONFIG
a particular device ? P FHTS T 3TN fHaT ST &2
21|What is the first step to troubleshoot network problem? Ping Open it Contact to ISP Wait the network  |[Fcaeh THEAT T TAGRUT I o [l Ugell heH FIT 72 T 3T AT S TIT&T &Y Acdeh
problem out qHET
22|What is the name of network tool that uses to check that Toner probes Long-nose plier Wire stripper Cables tester  [aleash gof T 1 T & Sl AL STdel oh ToIT ST Al & TR S SIF AT aTell IR ‘g oo IAETHh
all cables have been crimped properly? o wel et St & FAT gUR?
23|Which command is used in network to trace route? NET TRACERT NBTSTAT IPCONFIG HT3T &1 IdT 3T & [T Sicdeh H [ohd HATS HI 3UATT NET TRACERT NBTSTAT IPCONFIG
[ERIEICIN
24|Which tool is used in troubleshooting of wireless Wireless locator Wi-Fi hot spot Twizzer Cables tester IR Acdeh I THEIT [AARUT 7 [haT 3T T ST IR dlche SIS glcTare FEE Feed TR
network? fFar srarg?
25|What is computer and network surveillance? To check network To implement To restart network To monitoring of |FYR AR sicas Alderd 1 572 Aeash 1 RATT H | FAeet FAS H o] | Acde Basd H 32T AR g
status various command device data & computer S &t & o FT & fow GRRA A & forw | arfafafer o oreh
activity F fow




26|What is another name of packet capture? Packet sniffing Packet forwarding Packet handling POST Yohe THTTR ol GERT +ATH T &2 he RAfRaT ke HIATTSIT e gsforer POST

27|Which software is used to monitor networks on computer | Microsoft outlook Internet explorer [Open DNS home VIP|  Google chrome  [&egeR 3iR AldISdl 390N TR Acdeh T [«IIRTAT o ToTT HISHIIFS A3 H | elelc TR | 3019 DNS g1 VIP DucEn
and mobile devices? 5T GiFedT} T 3TJNT fRaT ST &2

28|What is the name of device which is used for forward Bridge External CD-drive Hard-disk Online-Camera |33 39T &1 ATH FT & ol [hiAhel TSH F IMUR T EE TFICTl TI3I-315d gs BT AT -HeRT
data based on a physical address? 3R 3e1 F o 3uer fJFar ST g2

29|Which devices are used for communication and Motherboard Networking devices | Primary memory | Secondary memory [t[e #cash TR HAR 3R eyarIe o1 / Ssog 3Thvll & &S Acdafhe fZarsa grfAe AFT AT RS T
interaction b/w devices on a computer network? oI i & IURTT T 3UATT foRaT STTaT &2

30|Which tool is correct for remote management? WAN management Memory Cryptography Bandwidth el /T 3UHIUT RAIC AASTHC 3T oIl £7 WAN HalotHe HART Adotdc TohceIammhr EEEED]

management
31|What is the function of network surveillance? To generate virus | To provide backup | To monitory data Cryptography  |cac Gfdeid ol I &1 &2 IRRE 3o FAT | §oh3Td UGTed el oh | 3T ¢1hdh X & TohceiamdhT
traffic computer o forw #ifges ger

32|What is the main function of firewall? Protect Copy Delete Move BRI 1 HE HE &7 52 gredc EaEl] Belic G

33|What is used to protect computer network from internet Server Windows-OS Hard-disk Firewall FTYR AAcdeh l SeIeIT e T Tdlel o [oTT FAT YT ESERY fasia 3ea s B Il
attack? Far srarg?

34|What is the full form of SSID in term of wireless Service set-Identifier | Sharing shift internet [Software set identifier| Swift shift identifier [aTReRT AcafehdT I AT & SSID a:r‘{v‘lww%? Service set-Identifier | Sharing shift internet | Software set identifier| Swift shift identifier
networking?

35|What is the another name of firewall? Adobe reader MS-access Security-gateway DRAM WPIRIXATel ST GERT ATH T g? Adobe reader MS-access Security-gateway DRAM

36|How many types of firewall are used? 1 2 3 4 ToRclsT TR o WIERGTl Sl IUTTET [ShaT ST &2 1 2 3 4

37|What is the function of a router? Forward the packet |Provide data back up Auto update Scanning 3T FI HY FAT§?2 3TdTeleh T Yehe 3CT 9 37T 37T IS T

to the uplinks HRAS HL
38|Which model is used by network switch that works on OSP model OSI model 0SJ model OSK model FAcah Toieh SR hiel T ATSS TN ThdT ST & it 3T OSP model OSI model 0SJ model OSK model

data link layer?

ol 9T UX 1o AT £




39|Which devices used in telecommunication that connects Gateway Switch Hub Modem AR # Fld A STHI0T 3TATIT B it &l Acaeh I 3TeraT- Aeca g & AT
two network with different transmission protocol together? 3TCT9T SIATARIT WEThTol & AT S 87
40|What is meant by cryptography? Paragraph writing Disk-checking Disk-cleaning Secret writing | TSRTeIIITEhT T &FIT Adeld 72 R Tefear T3enafeher T35 Fellfeldl Tohe Tsfear
41|What is cipher in cryptography? Copy data Algorithm for Move data Remote fohTeIamhY & cipher &7 §2 3T F1 Ifafal §a11aT | viesnee 31k Bices 3T Y 7{d e RAE AdeHT
performing management fropifater 3 forw
encryption and TeamRed
decryption
42|Name the process by which ciphertext is converting into Decryption Cipher Cryptographer Crypto analyst |38 TR &1 ATH TATST ST GdRT ciphertext 3T T3feheereT A T Tohcel TaTioee

plaintext in cryptography?

T 7 coleeEe #F aRafda o Srar &2

43|What is the full form of WPA? Wi-Fi protected Wi-Fi private Area | Wi-Fi protected area | Wi-Fi private access |WPA QST%I'U{U‘IFETER:IT%’? Wi-fi protected Wi-fi private Area | Wi-fi protected area | Wi-fi private access
access access
44]Which of the following is the least strong security WPA3 WPA2 WPA NEP o 7 & et A1 FAsTgd GI&T TTesh I AT 52 WPA3 WPA2 WPA NEP

encryption standard?




Name of the Trade : Information & Communication Technology System Maintenance 4™ sem - NSQF - Module 5 : Server installation, Install configure DNS

Question Opt A OptB Opt C Opt D Question Opt A OptB Opt C Opt D Ans Level
1{What is the name of powerful central computer on Server Client Hub Router FTach I QATFARTSH ho HCYLR T ATH FT §2 qR Follsc & X A 2
network?
2|What is a server? Anti-virus Driver A computer program Hardware AR FATE? TS aRRE ATeTeh Teh g e TREIH HEERN C 1
3|Which program runs on the local machine requesting Protocol Client File Data et AT T TAEART 7T T FI A T T AU FAT OICTehTol qTeleh WISl 3eT B 2
service from the server? 2?2
4|Which one is not an advantage of client server networks? | Traffic congestion Centralised Security Performance FeATSC AR FAcdeh ol ol ENER cftheh ShoteneleT et gIa WA A 2
5|Which model provides the network service to client to OSI model TCP/IP model Client-server model Client model PleT TT ATST FATSC I P Il & [oIU Icash JdT eI NTI IS ASA | AT/ IS ASS | Fellge-Ta) ASo Follee AST C 1
perform task? FIATE?
6|Which hardware is not request for installing window server Hard-disk Processor Display Scanner 2008  TAET HaR T T F¥el o ToIT el AT GTSAT BEAE R T The D 2
2008? YT ABT HIIT SATAT §7
7|Which one is not a web server? Apache web server IS web server Nginx web server MS-office 18 O 99 g AT 67 3T 39 FAaX IIS 39 IR Nginx 39 gax TATH 3R D 2
8|What is the next step for server after the window Configuration Updation Upgrading Ping 32T SECTeIeleT & d1G AR & [T 313Tell heH FIT gl &2 Configuration Updation Upgrading Ping A 2
installation?
9|Which option is not correct while configuration of windows | Time and Date Provide computer Configure Connect computer |TasTel TaR & HiTethaRRI & RTel el AT [dehod Tel el 87 | CISH 3R 3¢ Q1A | YR T oATH IR | AcaThal Y Ugdle ofT| HegeR  sccd A D 1
server? setting name & Domain Networking to Bluetooth AT Folare Tl
10|Which company developed active directory? IBM Apple Samsung Microsoft TR FYAT of UToFed STeNaFedl [aehiad I g ? IBM Tl T HSHhIETTC D 2
11|Which application protocol used to access and maintain HTTP FTP IP LDAP Fcaeh W ST AT ol TFAH il AR §1TT IW HTTP FTP IP LDAP D 1
directory services over a network? T fore UfCarshera Wietentel ot 3UANAT fohaT STaT §7
12|What is the full form of ADDS? Active Directory Active Directory Auto Directory data | Adaptive Directory |ADDS EFTt{UilfWERJT%L? Active Directory Active Directory Auto Directory data | Adaptive Directory A 2

Domain Service

Data Service

Service

Data Service

Domain Service

Data Sercive

Service

Data Service




13|Who translate domain name to IP address so browser can |  Active directory Domain name MS-office MS-word T ST ATH T 3TSUT USH T I ATE, I & SHTT ViFea sy STAA ATH AT AT e TATE a3
load internet resources? system ST3oR SeTaic TATEEAT T A5 FT ToheT §7

14|Which one is a type of DNS services? Automatic DNS Advance DNS Active Directory Authoritative DNS [DNS 3131t 3T Teh bR il TT &7 3feAfes DNS TSaT DNS Ve SSaedl Olad|  JMTARIRSBDNS

Service
15{How many types of DNS- service in network? 1 2 3 4 AP A fhdel TR $T DNS- AT gy 872 1 2 3 4
16|What is the type of .com domain? Education Network Commercial Government .Com ' ThE S8 & YR FAT ¢ ? fevaT gEUT ACah SPRCFAX | A0S TS TS TIHRT FETT
institutions infrastructure organisation institutions

17|Which process converts host name into its equivalent IP BIOS setup Name resolution Disk clean up Data backup  |leT T UThaT §IC ATH ol 31U THbET ST 03T H LI TeT S TEIA T35 Fellel 39 3T Sh3T
address? gRafda :T g2

18|What is the distributed hierarchical naming system for DHCP IPV4 DNS Networks FYCI & [V [AdRd ATHEIOT JUTTel FT 72 DHCP IPV4 DNS Networks
computers?

19|What is the name of second part of e-mail address? Password Mail-provider Name of website Domain-name  [3-Hcl U3H 3 GaAR HTIT T ATH FIT &7 qraas A-YETdT JIATSC BT ATH SR AT

20|Who maintains DNS? Dynamic DNS Distributive Mail transfer agent DNS resolver  |DNS T IERETT il T &7 SIATAS DNS | [qcaRoT Seaa uolell | A g9 Toic uATd RATeax

database system
21|What does a DNS client? DNS resolver DNS handler DNS updater Server DNS FellSc FIT T 87 DNS R&ateaR DNS g5k DNS 393X ESERS
22|What is the level of domain in www.microsoft.com? Top level domain Medium level Low level Domain | Intermediate level |[Www.microsoft.com & SY&e T T FIAT 82 MY TR AT HETH TR I AT | 01T TR T ST | SeHNSTE T Hl
domain domain AT

23|Which one is not a country top level domain? .ae br fr .ab ST T &2 T 2NY TANZ 1A el AT 78T 872 .ae .br fr .ab

24|What is assigned by DHCP to the clients? MAC address url IP address Name DHCP eaRT ATgeh! oY T AT STl 82 A% 03T FIRTA 3TSTY 15U A

25|How many types of IP address assigned by DHCP? 1 2 3 4 DHCP GaRT fohdel 9K o IP UZH &I |laT AT 72 1 2 3 4



http://www.microsoft.com?

26|Which layer protocol DCHP is? Application Transport Data link Physical DCHP fF& o & MIeishiel 872 VCelToheleT AR eI 3¢ foler i

27|Which parameter is not assigned by DHCP? Subnet mask Default gateway Domain Name SSL DHCP EaRT el AT RTHICT o781 VAT ATl &2 Hedoic ATEH Bwiee Aea 03 AT ATH TR SSL
address Server

28|Which one is not apart of DHCP? Hub Client Server Protocol DHCP o1 #19T =181 87 i FoTST FSET TcThiel

29(What is the full form of BOOTP? Boot Protocol Bootstrap Protocol Band Protocol Binary protocol BOOTP =t ‘{Uﬁ T FT 72 Boot Protocol Bootstrap Protocol Band Protocol Binary protocol

30|What is the process followed while assign an IP address AROD DROA ARDO DORA DHCP &@anrr FTSC HI |P U3 3 TS il THI FAT FToh AT AROD DROA ARDO DORA
to the client by DHCP? 3ATS ST 872
31|What is the full form of DORA in DHCP? Discover, Office, [Discover, Operation, | Data, Operation, Direct, Open, DHCP & DORA wqﬁmw%’? Discover, Office, [Discover, Operation, | Data,Operation, Direct, Open,

Request, Reply, Acknowledge | Request, Advantage Request, Apply Request, Reply, Acknowledge | Request, Advantage Request, Apply
Acknowledge Acknowledge
32|What is default subnet mask for class C network? 255.0.0.0 255.255.0.0 255.255.255.0 255.255.255.255 |l T #1cdsh & ToIT [Shiee Hdelc AT T 572 255.0.0.0 255.255.0.0 255.255.255.0 255.255.255.255
33|What is the total no. of bits for n/w ID/host for class A n/w? 8/24 9/24 10/24 11/24 FITd A Acdsh niw 1D /host & ToIT el fahcielt S13TSET hr 8/24 9/24 10/24 11/24

HEAT gely ?




Name of the Trade : Information & Communication Technology System Maintenance 4™ sem - NSQF - Module 6 : Routing, Remote access, User & Froup strategies

Question Opt A Opt B OptC Opt D Question Opt A Opt B OptC Opt D Ans Level
1{What is the name of packet that is used by user to Challenge Success Response Failure 39 ﬂﬂ:»?:'ﬂ ATH T § TSIGehT 39T 3TTITehl CaRT Challenge Succen Response Failure C 2
return result of calculation in CHAP? CHAP # 37077 & 9ROTH &l arad e & ol foham Sirar
g2
2|Which of the two protocols are used in TCP/IP model in TCP and UDP UDP and HTTP HTTP and TCP HTTP TIAIC o] H 5 Alsel & ST / Sy Alsol A r TCP and UDP UDP and HTTP HTTP and TCP HTTP A 1
which model in Transport layer? YIcTehlel ST 39T foRaT ST §72
3|What is the size of source and destination IP address in 4 bits 8 bits 16 bits 32 bits IP =X A O 3R 31 IP U3H ol 37T T 81T 52 4 bits 8 bits 16 bits 32 bits D 2
IP header?
4{Which command defines TCP/IP routing? Show ip route ip config Route Trace route TCP /IP &fE3T & HleT TY HATS TRATNT LT 872 Show ip route ip config Route Trace route C 1
5{Which network support Bluetooth? Personal Area Local Area Network Virtual Private Broadcast Network [Flsl &T sicae scgd &l THIH T 87 Personal Area Local Area Network |  Virtual Private Broadcast Network A 1
Network Network Network Network
6|What type of protocol are used in VPNs? Application level | Tunneling protocols | Network Protocols | Mailing Protocols |VPN & & YR & Ticiehiel a1 3T2NET TohdT SITcT 72 VCelTheleT eldel TATIIT TNeIPlel Scas iethid AfST Merdre A 1
protocols ElraCar
7(What is the full form of RRAS? Radio And Radar Routing And Ranging And Radio | Remote Ranging [RRAS &1 t{\lﬁ G FIAT 8?2 Radio And Radar Routing And Ranging And Radio | Remote Ranging B 1
Access services Remote Access Access Services Access Services Access services Remote Access Access Services Access Services
Services Services
8(What is the full form of RAAP? Remote Access Right Apply Real Access Right Access RAAP &7 ELU‘IW FATE? Remote Access Right Apply Real Access Right Access A 1
Authentication Authentication Authentication Authentication Authentication Authentication Authentication Authentication
Protocol Protocol Protocol Protocol Protocol Protocol Protocol Protocol
9|Why one time password (OTP) is safe? Easy to generate | Cannot be shared Used for one Complex encrypted [a+T TI5H Trads (HTETAT) 4T GITaid a1l 67 3o e H TS AT [FAT ST | hdel Uah olelced & e Uleshtes C 1
Transaction only password I BT R ThdT g UITAe fFar | TEaS A oE AT
Sarg
10|Which one is not a type of server? File Server Database Server Client Print Server PlsT TT Teh ThR T TAX AT 87 WIS JaX 3o AR TAEH e aR C 1
11|Which of the following is a strong password? 1rthAugustss Delhigs P@asswOrd laugustdelhi AT & 8 Slel T HAolqd ITHIS §7? 1rthAugust8s Delhig8 P@asswOrd laugustdelhi C 2
12|Which forces the user to change password at first login? | Default behaviour of Part of AES Device being Account T EaRT 3TARThT 1 Tgal oIl I IIIAS Sceld 31 | OS &l Bhlec TSUH Uoshtel | (3a188 3UTETehdl 3ThI3T T D 2
0os encryption practice | assured forces the administrator HelTg &1 STT 872 cgdg ¢diX T @ R Fr HAGI AT g vsfAfaace
user CaRT




13|What does AGDLP stands for? Account, Global, Account, Global, Account, Global, Account, Global, |[AGDLP & &7 Fdds &7 Account, Global, Account, Global, Account, Global, Account, Global,
Domain local, Portal Domain local, Domain local, domain local, Domain local, Portal Domain local, Domain local, domain local,
permission Program Process permission Program Process
14|What ADGLP implements using nested groups? Mandatory access Active directory  [Microsoft SQL server| Role based access [F€¢S 31 &I 3u2TeT {eh ADGLP T ST Xl &2 3rferarsr 3iferTa Afehd GRIsT  [ATSshIdFe SQL HaR| 38 3TenRa
control control IGREL TR AT
15{How many types of groups are in active directory? 2 3 4 5 tfFea SE¥aedl # fohddsl 9K & U g o2 2 3 4 5

16

What is the name of other group policy setting if one is
computer configuration setting?

Policy configuration
setting

Organisational
configuration setting

Group configuration
setting

User configuration
settings

T PR PIHINTIT AT 8, off 3T THFI o
QfeaT Fr AT FATE?

Policy configuration
setting

Organisational
configuration setting

Group configuration
setting

User configuration
settings

17

Which permission is must for GPO in order to delegate

Edit users, content,

Edit group, delete,

Edit group, delete,

Edit user, delete,

GPO $ #egATA & foT GPO ¥ forT dlel &1 A ATA glett
qIRT?

Edit users, content,

Edit group, delete,

Edit group, delete,

Edit user, delete,

permission for GPO? menu modify the security modify user content menu modify the security modify user content
18|Which group contain the same users as an Operation Administration Primary Shadow f&& F#E A OU (organisational Unit) & H&Tel SUTITehcll 3R vstAfATe e EPIEER RE
OU(organisational Unit)? g e?
19[How many group scopes are there in active directory? 0 3 5 10 UfFea STe¥aedl H fahlsl U EhIT 81 62 0 3 5 10
20|Which of the following is not a component of active Group policy Internet Information | Distribution groups | Security groups |@#AToIT@d & & PieT UiFed STSIFe] ol TUch el &2 Group policy  |Internet Information | Distribution groups | Security groups
directory? services services
21{How many settings are in single group policy objects? 900 1800 3200 5000 TeeTeT 379 TiforaY 3fTeotere 3 fehclell QT IH G 82 900 1800 3200 5000




Name of the Trade : Information & Communication Technology System Maintenance 4™ Sem - NSQF - Module 7 : Server configuration, Back-up Server Network Security

Question Opt A Opt B OptC Opt D Question Opt A Opt B OptC Opt D Ans Level
1|Which of following are the web services excepts? Jetty Tornado Apache Tomcat Blue Griffin TFATIAd & & il TT a9 JaTT &7 Jetty Tornado Apache Tomcat Blue Griffin D 1
2|Which of the following allows to view a webpage? MS-Office Web server Operating system Internet Browser |SFATIT@d & & hied Th TS &t Hﬂﬂﬁ YeTel STl MS-Office Web server Operating system Internet Browser D 1
g2
3|Which protocol are not used by internet? IP TCP HTTP BSNL el AT NCIhicl SeTeIC GART STATT 6T [T STTdT 572 IP TCP HTTP BSNL D 1
4|Which of the following are not medium of e-mail view? Internet Intranet Extranet L2CAP RAEATATET 7  Pie 5-AoT £ T ATCIH AT &7 geTT Egrelc TFECToIC L2CAP D 1
5|What is the easiest way of communication now a days? Fax Letter Telegram E-mail 3TTSTehel AR T TEY TATA AT T &2 g a1 ar A D 1
6]Which of these should be avoided in an e-mail? Subject line Re-reading Before sending Wrong email SATASAN Qg T FdeTT AMgU? B EECTACIET R ¥ It T TAUCA A T Ul | AT S - AA IaT & D 2
editing address
7|What is meant by roll back of transactions? Recover from Update the Delete old records |Repeat a transaction [olel-¢eT & el Sk & T Adeld g2 o derea @ olel-GeT 3UST Y g1 RepisH &1 T olelcel GIgeIu A 2
previous transaction transaction LGEISETY EGLEET
8|Which of the following is not a proper state of transaction? | Partially aborted | Partially committed Aborted Committed TAEATATT & & ohiel oleT-&l ST STelcl 1EAT wTeT &2 IRIE FTT A TAH | 3777 9 & Tiadeey GdH AT giaeee giell A 1
g BT
9[In which state the database should be for backup? Online state Off-line state Restoring state Deleting state  |Sh379 & ToTT 3199 v T H &l ATTU? 3TeTlSs TCT 3TH-ATS TeT TESIRIT T BeNfeaT T A 1
10(What is the another name of remote backup site? Primary site Secondary site Tertiary site Construction site  [R&ATE §eh31T AT I QAT oATH T g7 Primary site Secondary site Tertiary site Construction site B 1
11|Which recovery system covers media recovery and failure |Transaction recovery| Database recovery | System recovery Value recovery |fond Reradl fFea & Aifsar Revad 3R Sk Ready AR Rehadr e Repadl e Repadr Forg Repay [¢ 2
recovery? AT &7
12|Which is an essential part of any backup system? Filter Recovery Security Scalability el oft SomaTT RTes 1 U Jffaary REdT ST a1 82 theed Repaly HFgaa ThfarfaforcT B 1




13|Why would a hacker use a proxy server? To create stronger To create ghost | To obtain a remote | To hide malicious |Te §eh< WTSFEY TAX ST STANIT FAT T 872 TEY H WA AT | AAcae W U HoR | RAC Ty FHaAele | Acash Wéﬂﬁﬂf{\u‘r

connections with the server on the access connection activity on the TEY 1 o forw ATl & forw e A o fow | rfafafer s fare &

target network network IGIY
14|What is the most important activity in system hacking? Information gateway | Crackup password | Facilities provided Cover-up tracks | REcH gThdT & TaQ AgcdqU! AT a7 §2 SRR e $R3T TS |G IauT Sare & S Fa-3T ¢h
g
15|Where WPA2 security is used? Ethernet Bluetooth Wi-Fi Computer WPA2 GI&T T 3TN gl 1T STTdT 572 ST so[gd qrs - Brs FFYR
16|What is the work of network layer firewall? Frame filter Packet filter Band pass filter Capacitor filter  [Acdch oI WIIRGTcT 3T 1A FIT 2 e fheeX e heeX &3 I fheex TEaTRT fheex
17{Which portion of LAN management software restricts Configuration Security Performance File management |LAN YSeIe TTFCAIR T hisT AT AT SYAThdT ITarareardr Configuration Security Performance File management
allows and records user activities? management management management FI ATATT & § 3R Repis e &2 management management management

18|Which of the following is not a strong security protocols? HTTPS SSL SMTP SFTP ArATAT@T & | Pl U AT FI&T TeThiel el &2 HTTPS SSL SMTP SFTP
19|What is the full form of SFTP? Secure File Transfer Secured File Secure Folder Secure File SFTP %%t”{lﬁma—'m%? Secure File Transfer Secured File Secure Folder Secure File

Protocol Transfer Protocol Transfer Protocol |Transferring Protocol Protocol Transfer Protocol Transfer Protocol |Transferring Protocol
20|Which protocol ensures the integrity and security of data Firewall Antivirus Pentesting tools | Networks-security [ehlef T HIcishlel Teh sicaeh I I[Il dlel ST el @3l AR Bl TEaRRYE qeTeedT gol Scash-g &l Ticiehiel
that are passing over a network? protocols guTgARaaatars?
21|Which protocol is used for encrypting (coding) data at IP sec HTTPS SMTP SIMIME #cdeh oldd WX 3T Uleshte (HITS4T) o ToIT [ohd TTCTehlel ol IP sec HTTPS SMTP SIMIME

network level?

39AeT fFIT AT 82

22

What is the full form of SIP?

Session Initiation
Protocol

Secured Initiation
Protocol

Secure Initiation
Protocol

Session Integration
Protocol

SIP &I U1 &9 &1 52

Session Initiation
Protocol

Secured Initiation
Protocol

Secure Initiation
Protocol

Session Integration
Protocol




Name of the Trade : Information & Communication Technology System Maintenance 4™ sem - NSQF - Module 8 : Network Infrastructure, Linux Server Installation

# Question Opt A Opt B Opt C Opt D Question Opt A OptB Opt C Opt D Ans Level
1|What is the effective bandwidth of a signal? For the fast flow of | For the flow of cost |Band of frequencies For the flow of  [T&eter &1 goTrdT Jsfagy Far 82 ST H Aol TATE & | AT & JdT8 & [0 | WA & aﬁwr THeIC & UdTg & C 2
data containing most of amolent fow St gard Jgfrat fow
the energy in the Frag
signal
2|What happens to queuing time when there is heavy traffic Remain same Increase Decrease Fluctuates ST cde TN I ¢Ihe 81T § df $5591 CISH AT BIcT £7 EREGGIE SedTg FH AT 3R ST 8idT I B 1
on network?
3|What is the characteristic of average data rate(ADR)? Station Protocols Traffic N/w average data rate (ADR) T faar &1 82 Stationsa Protocols Traffic N/w C 1
4|What does CBR stands for the congestion? Constant bit rate Control bit rate Constant byte rate Control byte rate |CBR & 31 &/a7 82 Constant bit rate Control bit rate Constant byte rate | Control byte rate A 1
5|What is the time required for a bit to travel from source to Latency Propagation Time Delay Transmission Time [@Td & 37T deh ST ATAT & ToIT Tah bit ST [hclel THT T Latency Propagation Time Delay Transmission Time B 2
destination called? 3TALITFHAT § TG FgeAdT § ?
6|What happen in any system that involves waiting? Congestion Jamming Error Bottle neck e oft RTca & 1 21T ¢ [oTaa afedT AT gial 2 Congestion Jamming Error Bottle neck A 2
7|Which service allows a user to log in to another computer Telnet FTP E-mail Use net et T TAT ITAIThAT HT FCIAC I HAT Hed FY H Telnet FTP A Use net A 1
on the internet? T 3T il o g AT Sl &2
8|Which internet service allows the user to move a file? FTP Telnet Use net Time sharing  [&leT T SeI=ic TAAT 3UTRTHAT & BISol TATATTRT el ST FTP Telnet Use net RECEIRIEE A 1
HFATT A §2
9|Which of the following service not use TCP? DHCP SMTP HTTP FTP T & T il T TAT TCP I YT AT Bl &7 DHCP SMTP HTTP FTP A 1
10{How many root bridge would you have in a network with 1 2 3 4 GoteAl [&ad o AT 3T9eh 9T [Shdlel ®C T 819172 1 2 3 4 A 2
dozen of switches?
11|A server that can perform no other task beside network UNO services Dedicated server | Committed server Service server  |Ueh AT SN sicd TdT & UIT IS 3T 1Y oTe] F Thdl § UNO dfa® 38Fes TR FfACS TR afdw TR B 1
service is called? 3T Fgl SATAT 82
12|What is the code of Linux OS? Shell Terminal Kernel Command TITFg 3NTT T HIS FAT 82 Shell Terminal Kernel Command C 1




13|What does dmesg command show? User login log off | Sys log file for info | Kernel log message Daemon log Dmesg FHTS T &@TaT 67 STl SlTateT Sys SIaT HISel Srotol oAT9T TS2T SHT olTeT Tl
attempts message message T IR T | STTeThRY Hewl & forw

14|What command is used to count the total number of lines, Count w W count WC Count P Tl WIS el & HIFATAIT el oligel , 2Teel R ol &l Fatat Count w W count wC Count P
words and characters contained in a file? & forw forg TS T 3Tl$ TRIT ST §72

15|How user can change the default log in shell? Using Ch mod Using chsh Using rmsh Using tchsh SUIRTHAT Al A [3PIeT ATdT Y Hd o Thcl 672 Ch mod &T 39197 | chsh T 39T rmsh T 3T tchsh @T 39TeT

CXGIE AT HIAT HIAT
16|What is login shell? One that runs when One that One that user that One that give no _ |ITT31eT 2ol &FIT &2 T dg ol A AT ST A | Ueh dg 39Dl | T dg ot ﬁ??ﬁ?
the user login authenticate the | belong to the same permission SUGETRA AN | HAT IUAHAT BT | SN TH T HFHFH | IegATIIIET AT
user while logging in group I TAT T g | THANOIT FAT & FElRa g HLr

17|Which hardware architecture are not supported by red IBM-compatible Alpha Macintosh SPARC Thd ETSaI HMehcFaR I3 &d GaRT GHTI o1l 81d &2 TS I 3T AfFeTerer SPARC
hat?

18|Which command is used to display the Unix version? Uname-r Uname-n Uname-t Kernel [ feTor TEHIOT T UG T el oh [oIT [l HHATS T 3TN Uname-r Uname-n Uname-t Kernal

R STaT &2
19|For which repeating system absolute telnet is a telnet Windows Linux Mac DOS g {dieer Reea & fAT absolute telnet T telnet client EEE o EE DOS

client?

BT &7

20

Which port is connected by telnet protocol?

TCP port number 21

TCP port number 22

TCP port number 23

TCP port number 24

telnet WeTepiel fhE AIC & 31 81T 62

TCP port number
21

TCP port number
22

TCP port number
23

TCP port number
24




